Course Code: 3BCOM4
Course: Title: Cost Accounting
Credit: 3
Last Submission Date: April 30 (for January Session)
October 31, (for July session)
Max.Marks:-30

Min.Marks:-10

Note:-attempt all questions.

Quel.

Que2.

Que3.

What is cost Accounting? What are the scope and its limitations?
ARTd dEied |1 82 39 &9 9 A qasv |
Find out the issue prices of the Material on “Last in first out” method from the

following particular’s:-

1 faazor 9“9 A ST usd WA uekfa @ Wl @ fAefEe e
EICECAIT LS

Receipt (grfta) Issue(friw=)
Date Qty. Rate Date Qty.

2010 (Kg) (%) 2010 (Kg)
Feb.10 200 12.00 Feb.3 300
Feb.15 300 14.00 Feb.12 100
Feb.25 400 15.00 Feb.14 200
Feb.28 100 16.00 Feb.26 200

Feb.26 400

On 1% February, 2010 the opening stock was 400Kg valued at Rs.11 per Kg.
1 BRA] 2010 B ARG ib 400 fHUT. 1%, BT <X q AT

From the following particular’s of a colliery mine for the month of April 2010
prepare a cost sheet:-

30 2010 918 ® U A &l @ & f=faRaa faaxer 9 e
Rera— g3 dAR BITe—
Wages (uriR=fia) Rs.



Qued.

Underground (a« ¥ ) 15000

Surface (&az ¥ ) 2500
Working Expenses (&1 <13)

Repairs and Renewals (A¥=1d ¢d =dI-Idxor ) 600
Timber (391 o)) 350
Royalties and way- leaves (Riaedl va AR IHATRIGR ) 500

Stable exp. (sreaed =) 150
Stores (¥i¥ ) 200
Rent, Rates and Taxes (féxrar, a¥ @ &v) 175
Depreciation (3r€) 300

Administrative Exp. ( yemafie <a3)-

General, Administrative, Selling and Distribution changes 700
(wrm=, yerafe, e wd faver )

Saleable Ton raised,500 Ton

(fawa a1 Iaifaa <=1 500 €)

The cost Structure of an article, the selling price of which is 45000 is as follows:-

TP I &1 AN G¥aqr ra®T fAed qea 45000 . &, f=iaa 2-

Direct material (9ca&r |r) 50%
Direct Labour (ycae&r #mM) 20%
Overheads (uRer) 30%

An increase of 15% in cost of materials and of 25% in cost of labour is
anticipated. These increased costs would cause of 25% decrease in the
amount of present profit per article.

T &1 Frra 7 15% 3R s 3 arrd 25% 31 gis @1 amem 1 i



2| gdA fasd Yo & de9" H 39 981 g3 dRdl & SR Ui 9%

gdaE a9 A 25% &1 B 3 ST |
You are required:-
AT | IdAT B
(1)  To prepare a statement of profit per article at present.
gfd a¥g qdq@ @9 &1 faaver daR sifg |

(i)  To suggest revised selling price to produce the same

percentage of profit to sale as before.
A%y W ygd o1 & @M &1 yfaea gt $A ?q wuifea

faoa qeu gaargv |
Que5. Define standard costing and discuss its objects advantages and limitations.

gAY ArTd fafer @1 afarer difore qon 59 Saw™ a9 WL a1
fad=mn sifsig |

Que6. Calculate P/V Ratio from the following:-
/=1 9§ P/V Ratio @1 rorEn aifarg |

(i)  Sales Rs. 80,000
(i)  Sales Rs.1,00,000 Variable cost Rs.60,000
Fixed cost Rs. 30,000, profit Rs. 20,000

(i)  Spu Rs. 10,Vpu Rs.7
(iv) Variable cost 60%
Que7. Define Budget, Budgeting and Budgetary control. Give the advantages
of budgetary control in a large manufacturing organization.
quie, doled a7 gored) =01 &1 uRvfya i) e g fwiofi
T § qolcdl =T & oY 9disy |
Que8. What is budgetary control? Point out its objectives and advantages .
goicdl R0 7T 2?7 $HD ISRl dAT aHl HI 9d1sy |

Que9. From the data given blow, prepare a funds flow statement and schedule



of working capital changes:-

<1 wHal 9 $Iv ydrs faavor den srieha gsit uRads &) srg

daR Bifog—

Liabilities 2008 2009 Assets 2008 2009

Share capital 100000 | 125000 | Land & Building

General reserve 25000 | 30000 Plant 75000 84500

P&LA/C 15250 | 15300 Stock 50000 37000

Bank loan 35000 | ---- Debtors 40000 32100

Creditors 75000 | 67600 Cash in hand 250 300

Provision for tax cash at Bank 4000
Good will 2500

Additional Information:-
srfaRe Ay —
(i)  Dividend of Rs. 11000 was paid during the year 2008-09.
a9 2008—09 & SR 11000 ®. &I A9 f&Ar AT |
(i)  Depreciation charged on plant was Rs.7000.

TAIe R HIcl AT & 7000 . o7 |

(iti)  Provision for income tax made during 2008-09 was 16,500.
q¥ 2008—09 # &R ® RIY fHaT AT YIS 16,500 w.20T |

Quel0. What is cash flow statement? How is it prepaired?

JAPbs Ydreg faavor =1 227 59 o9 dIR fear sar 27



